\ v,

NEUMO Ehrenberg Group

NEUMO Ehrenberg Group

L e

Eot Lk A
- & v =

.N.7.0 .UX2NA "NIN7 P19I .TA72 nWNNA7 NJINNA .N"YN 077713 0I'X O™1'NNA .'K700 101 TV 18 30.6.22 TV 1pina .2022 272X yXan "1'Nn

WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0{9 | 03-5373275 :70 | 5885948 [171N 26 1"aWNN



_|_|||.Lu=|urE|=| _|_|||.Lu=|urE|=|

TITE>S TITE>
L —— DC150 O'DIXN W”PNN "NTPN YXaN
M [X1 77120 O nin 7w 2N 11ana TaWw?y

P20310 HSS-E machine taps Prototex® X-pert P

O"7pwa nT'N7 1NN 0™MDN NKN 0"pn SN ge———— e e R
67 TN M2x04 | WT120310-020 DIN Q) DIN Q)
3XDe | | 6537 L e 3XDe | 6537 K et
58 X1 11an M2.5x0.45 WT120310-025
53 Ixa1an M3x0.5 WT120310-030 P M K N 5 H © P M K N S H O
WJ30RE . . . . . . . WJ30RE . . . . . . .
51 Ix11an M3.5x0.6 WT120310-035
49 X1 T1an M4x0.7 WT120310-040 NOIXN W”PNN NTPN NIIXN W”’pnn nTpn
53 X1 112N M5x0.8 WT120310-050 DC150 x3D 111p ni7un OV DC150 x3D
60 X1 TN M6x1.00 WT120310-060 O0'7pwinT'N'7 101 1'NN | N"NA NTPNA0IP O0'7pwinT'N'7 10 1'NN | N"NA NTPNA 101P
67 X3 12an M7x1 WT120310-070 119 23-96 99 ?3-26
75 XA 11an M8x1.25 WT120310-080 144 26.1-08 120 26.1-08
89 Ixa1an M10x1.5 WT120310-100 168 28.1-210 138 28.1-¢10
226 210.1-¢12 188 210.1-612

foTeos e e
P20519 HSS-E machine taps Paradur® X-pert P

" DIN w
o'7pwa nT'N'7 1'Nn 0™MYN KN 0"pn
! ! 5XDe | 6537 L e
76 1771790 11N M1.6x0.35 WT120519-016
74 "71'90 an M2x0.4 WT120519-020 @ @ @ p M K N S H 0
62 71190 12N M2.5x0.45 | WT120519-025 WJ30RE B - B :
58 177790 Tan M3x0.5 WT120519-030
NOIXN W”"PNN NTPN
55 7190 AN M3.5x0.6 | WT120519-035 ' I I
DC150 x5D 111y ni7un Ov
56 177190 1an M4x0.7 WT120519-040
O"7pwanT'N"7 101 1'NN | N"NA NTPNA 101P

58 1771790 1an M5x0.8 WT120519-050

149 23-06
66 1771790 11an M6x1 WT120519-060

178 26.1-28
72 177190 11N M7x1 WT120519-070

208 28.1-210
79 177190 11an M8x1.25 WT120519-080

282 210.1-912
99 1771790 11An M10x1.5 WT120519-100

.N.7.0 .yXann "XIn7 193 .TA72 nWNNa7 hMJInNn .n"vyn 07713 03'X 0NN X700 10 TV 1X 30.6.22 TV 1pma .2022 22X VX2Nn "1'NN .N.7.0 .YyXann "NInv m93J .T272 nwNna7 MJInNn .N"vyn 077713 03'X 0"1'NNA X700 1nA TV 1X 30.6.22 TV 1P1na .2022 272X YXan "1'Nn

WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0{79 | 03-5373275 :'70 | 5885948 171N 26 1"awnNn WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0{79 | 03-5373275 :'70 | 5885948 ]171N 26 1"aWNN




T i Y

o
i

s lllLly)

P23210-UNF HSS-E machine taps Prototex® X-pert P

] m— ——

UNF X1 'T1an

WALTER

TITES

UNF 07700 O'T2N

P23519-UNF HSS-E machine taps Paradur® X-pert P

OABME LA

A lbih

e

1Ly

TITES

!. E——— e

UNC X2 'T1an

WALTER

P22310 HSS-E machine taps Prototex® X-pert P

O"7pwa nT'N'7 1'NN 0™ INN 0”pn 0"7pwa nTN'7 1'NN 03N NN 0”pn
80 1xa1an UNF #0-80 | WT123210-000 65 Ix31an UNC #2-56 | WT122310-002
75 IxaA1an UNF #1-72 | WT123210-001 55 Ix11an UNC #4-40 | WT122310-004
65 Ix111an UNF #2-64 | WT123210-002 52 Ix11an UNC #5-40 | WT122310-005
60 1xa1an UNF #3-56 | WT123210-003 52 Ix11an UNC #6-32 | WT122310-006
55 Ixa1an UNF #4-48 | WT123210-004 53 Ixd1an UNC #8-32 | WT122310-008
55 Ixa1an UNF #6-40 | WT123210-006 53 Ixd1an UNC #10-24 | WT122310-010
50 1xa1an UNF #8-36 | WT123210-008 53 Ix31an UNC #12-24 | WT122310-012
53 1x31an UNF #10-32 | WT123210-010 60 Ix312an UNC 1/4-20 | WT122310-025
57 Ix31an UNF #12-28 | WT123210-012 75 1x112an UNC 5/16-18 | WT122310-031
65 1xd1an UNF 1/4-28 | WT123210-025 90 Ix312an UNC 3/8-16 | WT122310-038

UNC 071790 O'T1aN
P22519-UNC HSS-E machine taps Paradur® X-pert P

IJ"7|7L'J1 nT'N'7 1NN 0"MIN XN 0"pn
O0'7pwa nT'N'7 1'NN 0™IN XN 0"pn 70 77190 112N UNC #2-56 | WT122519-002
85 7190 1an UNF #1-72 | WT123519-001 65 71190 2N UNC #3-48 | WT122519-003
76 7190 Tan UNF #2-64 | WT123519-002 60 71190 AN UNC #4-40 | WT122519-004
68 *71'90 T1an UNF #3-56 | WT123519-003 56 71190 2N UNC #5-40 | WT122519-005
65 7190 1an UNF #4-48 | WT123519-004 57 71190 2N UNC #6-32 | WT122519-006
65 *71'90 T1an UNF #5-44 | WT123519-005 58 71190 2N UNC #8-32 | WT122519-008
65 77190 Tan UNF #6-40 | WT123519-006 59 77190 Tan UNC #10-24 | WT122519-010
67 77190 Tan UNF #8-36 | WT123519-008 59 77190 Tan UNC #12-24 | WT122519-012
69 77190 Tan UNF #10-32 | WT123519-010 68 7190 12N UNC 1/4-20 | WT122519-025
69 77190 Tan UNF #12-28 | WT123519-012 79 77190 Tan UNC 5/16-18 | WT122519-031
75 77790 Tan UNF 1/4-28 | WT123519-025 99 7190 1N UNC 3/8-16 | WT122519-038

.N.7.0..UX2NA 'NINT7 193 .TA72 AWNNAT7 NJINNA .N"YN 07713 OI'NX O"1'NNA .'X700 102 TV IX 30.6.22 TV 1p1n2.2022 1"aX ¥yXan "1'NN

WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0{79 | 03-5373275 :'70 | 5885948 171N 26 1"awnNn

.N.7.0..YX2NN "NINT7 Y197 .TA72 nWNNAT7 MIJINNA .0"VYN 077713 OI'X O0"1'NND X700 102 TV 18 30.6.22 TV 1p1ina.2022 112X XN "1'Nn

WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0{79 | 03-5373275 :'70 | 5885948 ]171N 26 1"aWNN




XX vin

NN1o137
VERVPF-500X

UXan 'Nn
w1350

O"XNn'7n7 O0'77790 vo
3mm 111V

nair 10
VERVP-018

UXan 1'Nn
w360

1272 nwNnn7 nnnn

N0NTM9 'nY

- o'p7n n3'oT7
@8 ¢ vnymaoay
VERVWSJ-6
UX2N 1NN

w320

10” 1.5x60° 10197 O'J1 O""N7
VERVHC-10

UXan 1"nn
w128

8” 1.5x60° 10197 O'J1 O""'N7
VERVHC-08

UuXan1'nn

AL:]

VERTEX N1aN NIXIN O'NTPN NThwn

VERVDG-13A
@2-13 mm N1o  RIA@aR L pip!

sl V2100

28,9,10,11,12,13 mm 0071

HSS 7 NnThwn ‘7172

NIN'X NIXIN NNTPN7 NNON X'77 1019

[KKINTEK

KINTEK Nnn2an nXin o'nXnn

0"pPn D | d | L | oaT/Form | A | yxan1'nn
KIN165-63352 | 32 | 8 | 56 1 135
KIN165-63353 | 32 | 10 | 56 1 135
KIN165-63354 | 32 | 12 | 56 1 135
g KIN165-63356 | 32 | 16 | 56 2 13 135
KIN165-63358 | 32 | 20 | 56 2 13 135
1 KIN165-63359 | 32 | 25 | 56 2 13 135
KIN165-64247 | 40 | 8 | 71 1 135
KIN165-64248 | 40 | 10 | 71 1 135
KIN165-64249 | 40 | 12 | 71 1 135
u w KIN165-64251 | 40 | 16 | 71 2 13 135
T AT KIN165-64253 | 40 | 20 | 71 2 13 135
T WAL KIN165-64254 | 40 | 25 | 71 2 13 135
q s KIN165-64255 | 40 | 32 | 71 2 13 135

VERTEX N12N NIXIN 6” 01013 *XN7N
INp TN NIThWIN

VERVA-6-1

uXxXan 1'nn
w890

22IN0NN 0'0aN X77 O0aT *
7272 nWNNN7 NnnnF

113N NJ'Y XXIN TNN N'7N N30 XXIN

U"Ijn MNX'N yXINn 1'NN 1 0X1 0X4 3D'tester
HAK23921050 1
HAK21304070 | 0-8mm B12 nnTpn7 nNgn x77 1019 210 NN Mxin
HAK23924010
HAK21304032 | 1-13mm B16 AnTpn7 NNon X'77 1019 210
HAK21304040 | 3-16mm B16 nnTpn7 NNan K77 1019 249 uXan 1'nn ' UXan 1'nn
HAK21304042 | 3-16mm B18 ANTpNY7 nNon K77 1019 249 S — w80 ! w1390
.N.7.0 .yXann "\IN7 193 .T172 A"WNNA7 NJINAN .N"YN 07713 03X O"1'NNA X700 1NA TV 1X 30.6.22 TV 1P1N1.2022 1'aX YXan "1'Nn .N.7.0.YyX2ann 'NXIN7 m93J .T272 Awnna7 NJINNN .N"VYN 07713 0I'X O"1'NNA .'N7N0 02 TV 1K 30.6.22 TV 1P1N2.2022 112X YXIN "1'NN

WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0{79 | 03-5373275 :'70 | 5885948 171N 26 1"awnNn WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0{79 | 03-5373275 :'70 | 5885948 ]171N 26 1"aWNN




T—

ASIMETO
= AS3101-01-0 0-25/0.0Tmm 32N 0NN 125

ISO-17025 1X* 71"J OV ASIMETO N1an NIXIN

¥
w — —— 500mm 701" T 117}
ﬁ
| T

ASIMETO N12an NIX1IN 33N 0nNNpP™n
T » AS3101-02-0 25-50/0.01Tmm 330 0nnpn 135
ngﬂ ETU AN 1S0-17025 17X* 717 OV AS3101-03-0 | 50-75/0.01Tmm " : 148
rlygoo UlTmm 1IN 0nnpmnm

AS3101-04-0 | 75-100/0.0Tmm 33N 0N1NP™MN 160
AS3101-05-0 | 100-125/0.0Tmm "3Jn0nnp'n | 189
AS3101-06-0 | 125-150/0.0Tmm "3Jn0nnpn | 218
AS3101-07-0 | 150-175/0.0Tmm "Jn0nNpn | 225

ISO-17025 11X* 71'7 OV ASIMETO NaN NIXIN NTP TN

v"pn e rnn AS3101-08-0 | 175-200/0.01mm 130 0nMPA | 250

AS1484-11-0 6-10/0.0Tmm VW OV NTP TN 449
AS1484-12-0 10-18/0.01 n 449

mm PR R T 150mm O0m2'7p 71"37 0'p171 NIy 707177 NOXKPTIN

AS1484-21-0 8-35/0.0Tmm1 yw Oy N1 1N 369 ']"IX" Y1"J NTIVN OU DoIoN 0-12.5/0.01mm

AS1484-22-0 35-60/0.0Tmm IyWw OV NTP 1N 369 ‘NJ7va NN NXIN

AS1484-31-0 | 50-160/0.0Tmm puw ov N1 Tn | 375 30.0mm, 41.3mm, 131.4mm - 0"P172 Oy ASIMETO

AS1484-32-0 | 160-250/0.0Tmm jlvw oV N1 Tn | 620 @25.0mm, @4.0mm - NY1L X 7113

AS1484-33-0 | 250-400/0.0Tmm ww oV NTp TN | 715 AS4659-31-1 1ISO-17025

AS5405-95-0

1ISO-17025 X" 713 OV ASIMETO N1aN NIXIN 7071 T NI TN UXan 1'Nn UXan 1'Nn

w590 YALS

v“pn XN 2'NN
AS1400-21-0 | 5-25/0.005mm L=35mm 70" T'nJg Tn | 650
AS1400-22-0 | 10-30/0.005mm L=55mm *70'7T M3 T | 700 oI 1717 nJ'gT;;;?K 0O ;‘3%“'711?;”'7 U TAUN
oMrax 1 n 77Nn'05Nn Ty Nal
AS1400-23-0 | 20-40/0.005mm L=80mm 70 T1'nIg Tn | 715 uXan 1'nn 0-200mm 111;[ ?\ﬁo mn2100x1 (5)(I)X50mr:"7'rl;
AS1400-24-0 | 30-50/0.005mm L=80mm 707 119 0 | 735 w1940 ASI1 £60.01-1 0.002mm 311
-01- . -l
AS1400-25-0 | 40-60/0.005mm L=80mm 7011 'n9 1Tn | 760 AS1670-22-0 :
. UXan 1'nn
1JINONP'TI'X VW
1JIN 70T 7110 0-10/0.01mm
150/0.01mm '
97" NOXIN
WS25401-150 !
PE3107

Tesa Cal "70"1'T12'7p
IP67 O"711] JON 111N
n"n 150 DTTN OINN 712V NIV TN

05.30141

. VXN 1'NN
¥ T TECHNOLOGY w410

.N.7.0..YX2NN "NINT7 Y197 .TA72 nWNNAT7 MIJINNA .0"VYN 077713 OI'X O0"1'NND X700 102 TV 18 30.6.22 TV 1p1ina.2022 112X XN "1'Nn

WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0{79 | 03-5373275 :'70 | 5885948 ]171N 26 1"aWNN

UXan 1'Nn
UXan 1'Nn
w168 w118

WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0{79 | 03-5373275 :'70 | 5885948 171N 26 1"awnNn




SROOVvEX WNvarqus

NEUMO Ehrenberg Group

-Cut

Precise Tools for Small
Parts Machining

nn'w 16 nip

A10 1NIXNN ST-CUT a11on
nnJn 50% 721

ONINA P*Thnn 7Y
(ST-n n1TON)

T e

N1I97 1N VT'N1 00197
NNN'JNN 331071 OI30N OXVUI17

WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0j9 | 03-5373275 :70 | 5885948 171N 26 1"aWwnn ﬂ“‘l

wavargus

NEUMO Ehrenberg Group

X4D / X5D 7W 7'¥9Y ATIAV PNIV7 n112n 'N101]
MilliPro

O'7pwaaT'N'73'NN | nTIAY PNy 019N XN n”"nanipoip 0111 0"pPn
173.5 X5D D3T06015L072-10.41SOVTH113/051 6 111-01175
173.5 x4D D3T06015L095-10.41SOVTH141/027 6 111-01002

169 X5D D3T06024L12210.5ISTMVTH250/376 6 111-01257
169 x4D D3T06024L15310.5ISTMVTH250/377 6 111-01258
169 X5D D3T06031L16310.7ISTMVTH250/378 6 111-01259
169 x4D D3T06031L20510.7ISTMVTH250/379 6 111-01260
169 X5D D3T06040L20510.81STMVTH250/380 6 111-01261
169 x4D D3T06040L25610.8ISTMVTH250/381 6 111-01262
169 X5D D3T06048L24611.01STMVTH250/382 6 111-01263
169 x4D D3T06048L30711.01ISTMVTH250/383 6 111-01264
296 X5D D3T10082L312-11.51SOVTH250/394 10 111-01275
296 x4D D3T10099L375-11.751SVTH250/395 10 111-01276
169 X5D D3T06016L093-156UNTMVTH250/384 6 111-01265
169 x4D D3T06016L116-156UNTMVTH250/385 6 111-01266
169 X5D D3T06021L120-140UNTMVTH250/386 6 111-01267
169 x4D D3T06021L150-140UNTMVTH250/387 6 111-01268
169 X5D D3T06025L146-132UNTMVTH250/388 6 111-01269
169 x4D D3T06025L182-132UNTMVTH250/389 6 111-01270
169 X5D D3T06052L261-128UNTMVTH250/390 6 111-01271
169 x4D D3T06052L326-128UNTMVTH250/391 6 111-01272
169 X5D D3T06048L264-120UNTMVTH250/392 6 111-01273
169 x4D D3T06048L330-120UNTMVTH250/393 6 111-01274

WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0{79 | 03-5373275 :70 | 5885948 171N 26 1"aWwNn ﬂ“‘l




VARDEX Wiwvarqus

NEUMO Ehrenberg Group
MACH /)

L/ Supersonic Thread Milling

New Innovative

VH4 Grade

Improved Cutting Edge
& Reinforced Geometry

Coolant Thru

”_r Optimal

Large Core moeeN ——  Flute
Diameter ‘ . Length

Advanced
Surface
Treatment

Additional Flutes

@ SO

Features: nnnn

NN NANT'PaANTIAY ¢
TIQ'WA |NT2 N'ONT ANN9A ¢
7J0 TN NIINN e

N71yn NOW 1'0 N73j -

Improved Cutting Edge & Reinforced Geometry - for high loads
Coolant Thru - for better chip flow and surface finish

« Large Core Diameter - for increased stability

- Additional Flutes - for higher feed rate

V4 Grade - high wear resistance for general purpose applications. TICN PVD Coating
Advanced Surface Treatment - reinforced cutting edge and improved surface finish
Optimal Flute Length - for higher rigidity and efficient chip evacuation

WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0j9 | 03-5373275 :70 | 5885948 171N 26 1"aWwnn ﬂﬂl‘l

VARDEX Wwvarqus

NEUMO Ehrenberg Group

MACJ}/)EM N1 2 9 TI2'WA INT X

Standard @ Fiutes)

MACH (4 Flutes)

feed 0.15 mm/rev (.0059 inch/rev) | 7sec.  feed 0.4 mm/rev (.0016 inch/rev) | 3 sec.

Application:
M10x1.5x20

Material:
SAE 4140

Cutting Speed:
Ve =90 m/min
(Vc = 295 ft/min)

100% higher feed [mm/flute] (inch/flute)
60% reduction in machining time
25% more tool life

MACH /) TM UNMATCHED
ecaniing\S— PRODUCTIVITY

NNTP (mm/flute) TIA DT 173 1'n NIX
(inch/flute)

+100% -60% +25%

STANDARD
MACHTM
STANDARD
STANDARD
MACHTM

WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0{79 | 03-5373275 :70 | 5885948 171N 26 1"aWwNn ﬂﬂl‘l



VARDEX Wiwvarqus

NEUMO Ehrenberg Group

Supersonic
Thread Turning

Standard MACH

15 Passes | 40 sec. 6 Passes | 15 sec.

Application:
M64x3.0x33

Material:
SAE 4140

Cutting Speed: —
Ve =100 m/min e ——

(Vc = 328 ft/min) AR A2N

60% less passes
60% less machining time
25% more tool life

Wt
MAc:-y)TT UNMATCHED PASSES

PRODUCTIVITY orW
MACQ)%‘

S

MaVn 190N TI2'WUn Nt nN'Wa "N NIIX

-60% -60% +25% | -

STANDARD
MACHTT
STANDARD
MACHTT
STANDARD
MACHTT

WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0j9 | 03-5373275 :70 | 5885948 171N 26 1"aWwnn ﬂ“‘l

MACIy/)m NI 279 TI2A'WA INT X

VARDEX WNvarqus

NEUMO Ehrenberg Group

k//Supersonlc Thread Turning
Improved Rake & Advanced

Reinforced Geometry Surface
Treatment

VK8 Grade

[PATENT\

mm ING

Vargus Dovetail
Clamping System

Improved
Profile Design

Features:

- Improved Rake & Reinforced Geometry - for high resistance with a reduced number of passes
« VK8 Grade - high wear resistance for general purpose applications. AITiN + TiN PVD coating

- Improved Profile Design - superior threading surface finish

« Advanced Surface Treatment - reinforced cutting edge and smooth surface finish

+ Vargus Dovetail Clamping System - super rigid, designed for high loads

Jnnunn?

(number of passes) 0™Mavnn 190N 7W NMNIVNWND NJVPN -
TI2WN |NT 7W N'ONNT ANN9N ¢

N 71T NRTW TN INC
n71yn NnLW 10 *

- 110 011 UYT'NnY7

WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0{79 | 03-5373275 :70 | 5885948 171N 26 1"aWwNn ﬂ“‘l




VARDEX WNvarqus

NEUMO Ehrenberg Group

MACH /) UNMATCHED T112"N VIX"1Y
Supersonic PRODUCTIVITY 010131 n0™MN

Threading

Vargus Ltd. is pleased to introduce the new and revolutionary MACH Line
for supersonic threading!

e
—
—
—
—
—

1'7W O"1J0N O'XVI'7 N1IT7 1N O'901) O'V197
ElEETE Of350
:%ﬁ“ 1770 7013 UT'NY %iﬁ[
MWIPN 7V 1XNT7 1K 11Lu1pn-‘.7u. 1;n7 X
https://youtu.be/d5dclJLT1ANc https://youtu.be/LkcC7jUu-xw

.N.7.0..YX2NN "NINT7 193 .TA72 nWNNAT7 MJINNA .0"VYN 07713 OI'X O"1'NNN X700 102 TV 1K 30.6.22 TV 1pina.2022 112X ¥yXan "1'Nn \

1 Ul
WWW.NEUMO-VARGUS.CO.IL | NEUMO@NEUMO-VARGUS.CO.IL | 03-5372190 :0j79 | 03-5373275 270 | 5885948 ]l'7lﬂ 26 1aWNN WIS




